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[ No. ® F K 4% 05 07 09 13 14 JEfr |

2 B Waltz

28 BN fhiE 5 4 5 5 5 5.0
30 Bl ERE 6 5 6 6 6 6.0
31 TERR HE— 3 3 3 3 3 3.0
32 EE ®mK 4 2 4 4 4 4.0
34 PEEE WE 1 6 2 1 1 1.0
3B =iE 2 1 1 2 2 2.0
2 B Tango

28 BN {hiE 5 6 5 5 5 5.0
30 Bl ERE 6 4 6 6 6 6.0
31 TEER HE— 3 2 3 3 3 3.0
32 EE ®mK 4 1 4 4 4 4.0
34 PEEE WE 1 5 1 1 2 1.0
b =G 2 3 2 2 1 2.0
£ H Quick Step

28 BN {hiE 5 6 5 5 5 5.0
30 Bl ERE 6 5 6 6 6 6.0
31 TERR HE— 3 2 3 3 3 3.0
32 EE #®mK 4 1 4 4 4 4.0
34 PEEE WE 1 4 1 1 1 1.0
3B =iE 2 3 2 2 2 2.0
B BAR 2%

No ® F R4 W T Q TR AR

28 BN {hiE 5 5 5 15.0 5.0

30 Bl ERE 6 6 6 18.0 6.0

31 TERR HE— 3 3 3 9.0 3.0

32 EE BK 4 4 4 12.0 4.0

34 BFE W 1 1 1 3.0 1.0

3B =iE 2 2 2 6.0 2.0

No. B &EEB A

05 W HE

07 g FHH

09 WE &

13 R

14 A Eid
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A AL PR

HES = F K4 R—hF— 4 AR
27 INE R RE ARG YT
28 ST hiE AT B H50L
29 PN N HIUE OV YT
30 gl Elr YR AL
31 TEHR HE— /NP 2 B3N
32 R K W ZER HAfL
33 miE 3K AT EH YEIR s
34 MEfE Vb2 g = AR A
35 e 1B o =i EPIA
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